A Double irvt‘i%yra/b on the Circwlar 7v€gion

Firstly, Rere is the polav coordinate System :
(Note thots Rere we use (a insteod ﬁ"’ +o avoid Some cevbcus»'an.)
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Then &ou Can pub the Circle wherevey you wont .
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2 No motter where G IS, the following egualities aduszy Hold :

x= PODSQ
i‘j = f’Sin.O
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casel. the Cirde 'S Centered ob (o .0), With Tadius q .

M(p, 0)

IJC we tuke the arbitrery Point M(f. ) on the circle,
then the polar coordinote efuation Of the circle is 10:-' Q.
And then the domoun («A'ghtghted n Jellow) IS

D= {cp, e): osfsa, oé@SlTD}
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CaSe 2. the Cirde IS ewsered ot (a, 0), With Tadius a.

CosH = 2a zo.
= f= 2Q.Cos 6

IJ’: we tuke the arbitrory Point M(f. ) on the civele,



then the polar coordincte efuation of the circle is =20 Cos@.
And then the doman (Jv‘lghgkted in Yedlow) IS

D=F(Lo): —Lso<%, 0 f<20050)

R )

cos(6- ) = %

= p = 2a-cos(6 - p)

IJC we tuke the arbitrary Point M(f.©) on the civcle,
then the polar coordinote ejuation Of the circle is P=2a-CDS(9’ﬁ)-

And then the domain (J\'ghlgkted in Jellow) IS

D=3(f 8): p-F2p<B+tZE, 0¢ /05 20.- Co5CO~)

B+L 20.-Cos (8 -p)
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